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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

fe—a—->

Area of trapezium = 5 (a+ b)h h
n|

b

A

N

Volume of prism = area of cross section x length
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Answer ALL THIRTY questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator.
1. The pictogram shows the numbers of hours of sunshine in London on Monday, Tuesday
and Wednesday of one week.
iy [O O O O
Tuesday O G Key: O
ts 2 hours
Wednesday O O represen
Thursday () ) )
Friday 0 L g
(a) Work out the number of hours of sunshine on Monday.
o
Q)
1)
(b) Work out the number of hours of sunshine on Tuesday.
(1)
There were 6 hours of sunshine on Thursday.
There were 5 hours of sunshine on Friday.
(c) Use this information to complete the pictogram.
@ o
1
\
(Total 4 marks) |
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2. Diagram NOT
accurately drawn

30cm B

A

<+«— l6cm >4 9¢cm —»

Here is a picture of a stick.
The stick is in three parts, A, B and C.

The total length of the stick is 30 cm.
The length of part A is 16cm.
The length of part B is 9cm.

Work out the length of part C.

39_(f¢+1) 5 Y= 05 = B en

~
Leave
blank

Q2

3. (a) Work out 50% of £60

59 ' = ——’—)QCO - _(LQ.,
62 o k5 = 2

e f 20 £ ..................................

(b) Work out 25% of 20 metres.

A5 x 20 = % 2D = 2 = e

F oD i 8

........................................ metres

1

(Total 2 marks)
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4. Here is a point P marked with a cross (X).
P % %
(a) Draw a line 7cm long.
Start from the point P.
(1)
(b) On your line, mark with a cross (X) the point which is 3c¢m from P.
Label this point Q.
|4
(Total 2 marks)
5. Here are the first 4 terms in a number sequence.
124 122 120 118 ...
(a) Write down the next term in this number sequence.
(16
1)
(b) Write down the 7th term in this number sequence.
A — | v 3 4 o ¢ +
Flny —> 124 12 i 18 110 1Y (2 i &
1)
9 cannot be a term in this number sequence.
(c) Explain why.
A berms 0 VS smouence oG e ven.
@ (@5
(Total 3 marks) |
- )

O A
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The diagram shows a shaded shape drawn on a centimetre grid.

(a) Work out the perimeter of the shaded shape.

(b) Work out the area of the shaded shape.
State the units of your answer.

Here is a solid prism made of centimetre cubes.

(c) Find the volume of the solid prism.

................................ cm
1)
....... iD\Ci\
(2)
Diagram NOT
accurately drawn
represents
lem?
................... IS cm’
2)

(Total S marks)
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7. The table shows part of a bus timetable from Shotton to Alton.
Shotton 0730 0800 0900 1000 1100
Crook 0745 0815 0915 1015 1118
Prudhoe 0758 0828 0928 1028 1128
Hexham 0815 0845 0945 1045 1145
Alton 0830 0900 1000 1100 1200
A bus leaves Shotton at 0730
(a) What time should it arrive at Alton?
JE: 30 |
O
i Another bus leaves Prudhoe at 0828 I
f (b) How many minutes should it take to get to Hexham? |
| |
|
| | 7~ .
........................................ minutes
1)
Serena lives in Crook.
t She has to be in Hexham by quarter past 11 i 4
(¢) What is the time of the latest bus she can catch from Crook to arrive in Hexham by |
J quarter past 117
| |
1O 15
@ Q7
(Total 3 marks)
(a) Write the number 4117 in words.
Foue trousand, | one hardeed andl  seveniecn ...
(1)
(b) Write the number 4117 to the nearest hundred.
Lr, 1 QO |
O Q8 |
(Total 2 marks) |
i i
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A B

Diagram NOT
accurately drawn

A [

C

The diagram shows four 3-D solid shapes.

(a) Write down the number of vertices of shape A.

A

<

\V

Here is the net of one of the shapes, A, B, C or D.

(b) Which shape?

(Total 2 marks)

—~
Leave
blank
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10.
Miles per hour
The diagram shows the speed of a car.
(a) Write down the speed of the car.
................... 3’3 miles per hour
()
The scale below shows the amount of fuel in a tank.
Empty Full
]SSl SRSl | | [ | 1 [ [ 11111111
0 1 2 3 4 5 6 7
Gallons
(b) Write down the amount of fuel in the tank.
5(” ........... gallons
(1)
When the tank is full, there are 7 gallons of fuel in the tank.
(¢) Work out how much more fuel has to be added to the tank to fill it completely.
F-= Faly = Gk
3.4
........................................ gallc?f; Qilﬂ
(Total 3 marks) | |
9
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11. y A
7
6
/ #
3 //
4 //
3(
o
2
1
>
0 1 2 3 4 5 6 7 x
(a) Write down the coordinates of the point P.
3.
(1)
(b) Write down the coordinates of the point Q.
2 a2
)
M is the midpoint of the line from Q to P.
(c) Find the coordinates of M.
D, + o i+ D2\ _ [o+rd 3+ )
2 2, ) < A L 5
s 2 Qu
. ( 2, us ) q
(Total 4 marks)
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12.
City Temperature
Cardiff ~28C
Edinburgh o
Leeds 2.°C
London o
Plymouth 5°C
The table gives information about the temperatures at midnight in 5 cities.
(a) Write down the lowest temperature.
............. o oC
(1)
(b) Work out the difference in temperature between Cardiff and Plymouth.
...................... e
1)
(c) Work out the temperature which is halfway between —1°C and 5°C.
—f T _ B 2 :
- 1 == o A C
.................... D\ i &
1) Q12
(Total 3 marks)
J
11
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13.

Impossible Unlikely Even Likely Certain

Which word from the box best describes the likelihood of each of these events?
(a) You throw an ordinary dice and get an eight.

=
Leave
blank

(Total 3 marks)

(1)
(b) You throw a coin and get a Heads.
E\'\_ \
(1)
(c) December 6th 2008 is the day after December 5th 2008
_/ 2. rton N\
1 Q13
(Total 3 marks)
14. (a) Workout 4 x5-8
(#%$ )-8 = 20-8 = 12 A,
(1)
(b) Workout 18+2x3
3 ]“6”-}-(2)(3): 1€ + ¢ = A4 |
D\% .....................
1)
(¢) Workout (4+3)x7
- ; el
— o W — = = , -
il
1 Q14

) O
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15. (a) Simplify  8x —4x
G .
(1)
(b) Simplify — yxyxy ;
......... (1)
(¢) Simplify  4x +3y—2x+ 5y
(f,'r-'x oA (33—}- S‘V_))
= 2x+ Sy B el e TR
2) Qis
B
(Total 4 marks) f
2
13
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16.

c Diagram NOT
accurately drawn
60° 30°
# 6.5cm B
(a) Make an accurate drawing of triangle ABC.
The side 4B has already been drawn for you.
c
\ 6 '33 30°
4 C*'S ey B
2
(b) Measure the size of the angle at C in your triangle.
o D
1)
(Total 3 marks)

-
Leave
blank
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17. Work out 36 x 24

36
XA,

| 4 o
+ P O

3 6 o

........ Dl @7
|
(Total 3 marks) |
18.
4 D Diagram NOT
accurately drawn
88 96°
B (5
James says, ““The lines AB and DC are parallel.”
Ben says, “The lines AB and DC are not parallel.”
Who is right, James or Ben?
I% N
Give a reason for your answer.
—l: F A 13 O\:'\é[ _DC Lutre f)éwf f—‘LH‘Z."( . L)k"\ c.f)é{%-é
would add o '%D) ..................................................................................... Q18
(Total 2 marks) ‘
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19. Diagram NOT
accurately drawn
124° P
(a) (i) Work out the size of the angle marked p.
| RO
- | AL —
B == T, _D () .................
(ii) Give a reason for your answer.
....... Nrgltn.ocems o Dot Lne odd o IRQT ...
‘ )
Diagram NOT
accurately drawn
q
68°
(b) Work out the size of the angle marked g.
>
=i %
AT ¢
po i
I Q19
(Total 3 marks) ‘
16
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20. There are 600 counters in a bag.

90 of the counters are yellow.

(a) Work out 90 as a fraction of 600
Give your answer in its simplest form.

q 0 B 94 B 3

—————
o ——— —

L OO 6O 20

180 of the 600 counters in the bag are red.

(b) Work out 180 as a percentage of 600

The rest of the counters in the bag are blue or green.
There are twice as many blue counters as green counters.

(¢c) Work out the number of green counters in the bag.
Le t == B{Mra covntecS ove ol Cg = C"C cezn Counbksc s |
&<

—T_L:\('v"\ 13 gzl ;ZCC

Al qo+ 180 + Bt & = (oo
Fhitse., -

R+ G = 60O ~(qe+igo )= 330
' kb . D;)?’ é.
26+ & = 330 (subsublbing B (or & ) 1

= F — - g’g o .....................................

s e = 3 (Total 6 marks) T
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21. The two-way table gives some information about how 100 children travelled to school one

Leave
blank

0

day.
Walk Car Other Total
Boy 15 25 14 54
Girl # %5 4 8 16 46
Total 5 33 3D 100
(a) Complete the two-way table.
3)
One of the children is picked at random.
(b) Write down the probability that this child walked to school that day.
: i 24
5 e O T i,)
\DO bt
(1)
One of the girls is picked at random.
(c) Work out the probability that this girl did not walk to school that day.
, . 12
Bk o B T 23
’"—_ / - ( 2 2 "3 .....................................
+ ( i @ Qu
(Total 6 marks)
22. Compasses cost ¢ pence each.
Rulers cost 7 pence each.
Write down an expression for the total cost, in pence, of 2 compasses and 4 rulers.
Th& = J& &bk
(2.¢c +uw f) Q22
........................................ pence
|
(Total 2 marks) |
18
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23. Diagram NOT
accurately drawn
Work out the size of the angle a.
Angles of o quectifatecad add Lo %O°
=Y &4 + 120 + o+ 8 = 36O
5= 3(:“3 - 1%
= Ep ';)\0 ............... (Lkl .............. r%s
(Total 2 marks)
24. (a) Solve 4x+1=9
iy =5 ff= | = B
_ = B
I -
2)
(b) Solve 2y—1=12
9\3 . 194+ =073
— y= =TS
Y= e (J >~ .....................
@ Qe
(Total 4 marks)
19
0 O O
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23. y

(a) Rotate the shaded shape 90° clockwise about the point O.
2)

yll

i ;

<4 3 2 -10 1 2 3 4 |
I I N I O N N

@ Qs

(Total 4 marks) ‘
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26. Diagram NOT
P accurately drawn
X X
2o 12
The diagram shows a rectangle.
All the measurements are in centimetres.
(a) Explain why 4x +1=2%+ 12
‘Lppomle.s kf&ktﬂgltf\évLU\kj"(\l) -
(b) Solve 4x+1=2x+12
9% = 1|
—3 B = S REE W TS
= s Sbﬂ .....................
(2)
(c) Use your answer to part (b) to work out the perimeter of the rectangle.
(D g rimmiKer = 254 [ 3w Xt Ly o A
= Ko + 173
= B ("Li_ ) sat $1 ............ cm
— e s 3 = D. _1 Py (2) Q—Zlﬁ
(Total 5 marks)
21
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27. Here are the plan and front elevation of a solid shape.
Plan Front Elevation

(a) On the grid below, draw the side elevation of the solid shape.
(€))

(b) In the space below, draw a sketch of the solid shape.

// >\
@ Q27
(Total 4 marks) }

22
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28. Fred is going to take a survey of the magazines read by students.
He wants to design a questionnaire.
(a) Design a suitable question that he could use to find out what types of magazine
students read.
PI eAse vndicabe Whic '-.'JF' the Fol\ow '\8 m&\éﬁ NS “ou ceacl .
Health & (fedyle [ Caking []
= e L3 |—-—~_‘ C_om I)ML\ 2 a [jl
T.v. and {7 PN | [ - ‘ S
. - eormous R 'DP("-J |_l
[f’-"\g\\ oM |
: D piamyee and Nabare ]
MAUSL © i ' g . . |
[Hobbies , aenpral inkwrkl ac OTher L
g @
Fred put the question below on his questionnaire.
‘How many magazines have you read?’
A few A lot
(b) Design a better question.
You should include some response boxes.
i”lc) WM L\) A S/\'Z_'» NZA DMy AN 6«‘; Lo g LO’D “A JJ;&"’ N\G’&‘ L.
oA (eanck P oonkh ?
| - T :_ 1 |
I__‘ l___._l {__.: |_I l__,l !
ope 1= 4 3.4 §-C Folo Mae benlo
(2) Q28
h
(Total 4 marks)

—
Leave

0 0 O
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it a .

29, Use the information that
322 x 48 = 15456

to find the value of

(a) 322 % 4.8

” 322 , %8 . 322%¥4E - 15456 ) 57 . gy
e = o o e Ol o
1)
(b) 0.322 x 0.48
D IS9S6
1
(c) 15456 ~ 4.8
. e cmeebesttecammasns

y<e)
2994 %X H.€ = (SUS6 = ,
SRS & - (Total 3 marks)

Leave
blank

Q29

30. 2x* =172

(a) Find a value of x.

) 2
& L = b o = (s . sssstressstrssesssassssnanassasseseis
) 2)
(b) Express 72 as a product of its prime factors.
T/»)_ = XX 34
= Q¥ 2 X )3
s B @ % ANXT
3 2
= 2% 3
/] 2
........... P S
@ &
(Total 4 marks) ‘
TOTAL FOR PAPER: 100 MARKS
END
S
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